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16.5 Fourier
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=[x(0) + (=) x(A]+ W '[x(D) + (-1)’ x(5)]
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X, (1) = x(i) + x(i + 4),
x (i+4) =W'[x(i)-x(i+4)],i=0,1,2,3.
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X, (1) =% (i) + X, (i +2),
X, (i+2) =W [x (i) - x(i+2)],i=0,14,5.

X (1) =x,(1) + %, (1+1),
X(@[i+4)=x,(1)—x,(i+1),i=0,2,

X (1) =X, (i +3) + %, (i +4),
X([A+4)=%X,([1+3)—x,(i+4),i=13.



N =32, 64,128

(k3
FFT (k)X

)}  {IXDI
8, >0 {IXDI}
Fourier

8,

function ex1601(N)
t=0:N-1;
x=randn(N,1)*20;%randn
y=Fft(x,N);
z=abs(y);
plot(t,x,"+",t,z,"0")
%
delta=input(”
for 1=0:N-1
if z(i+l)<delta
y(i+1)=0;
end
end
z=real (ifft(y));
plot(t,x,"+",t,z,"0")
N=128
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N =32, 64,128
s {y(hs
x(k)}  {y(k)} {z(K)H
Fourier FFT {z(k)}

function t=ex1602(N)
x=randn(N,1)*20;%randn
y=randn(N,1)*20;%randn
tic %

%z=conv(X,Y);



for 1=0:N-1
z(1+1)=0;
for j=0:1
z(i+1)=z(i+1)+x(+1)*y(i-j+1);
end
for j=i+1:N-1
z(i+D)=z(i+1)+x+1)*y(N+i-j+1);
end
end

tl=toc;%

tic;
x1=Fft(x,N);
yl=fft(y.N);
z1=1fft(x1.*yl);

t2=toc;
t=[t1,t2];
N=128
0 Fourier
FFT
m (_1)n X2n+1 m (_1)n X2n
al HZ:;) (2n+1)! o (2n)!
Taylor

function [z,maxerror]=ex1603(m);

% z: maxerror m

len=4*m+2;

a=zeros(len,1);%

a(2)=1;

for 1=4:2:2*m+2
a(i)=-1*a(i-2)/(i-2)/(i-1);

end

sin 2x




b=zeros(len,1);%

b(1)=1;

for 1=3:2:2"m+1
b(i)=-1*b(i-2)/(i-2)/(i-1);

end

c=zeros(len,1);%

c(2)=1;

for 1=4:2:len
c(i)=-4*c(i-2)/(i-1)/(i-2);

end

x=fft(a, len);%Fourier
y=fft(b, len);%Fourier
z1=x.*y;
z=1fft(zl) ;%Fourier
maxerror=0;
for 1=1:len
e=abs(z(i)-c(i));
iIf e>maxerror
maxerror=e;
end

end
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